Chem. 6A Exam II Dr. Mack/F2007

1. (5 points) The following Lewis dot structure for PH; is given below. Answer the following questions: HW
(4.58)

Using Vesper theory, describe the arrangement of:

(a) The electrons about phosphorous:—TmMm
H (b) The atoms about phosphorous: TV q ON) c&‘\ r‘p‘b{ Vawa ( I

' ’Tw\amg‘uuw

2. (10 points) Draw the Lewis dot structure for sulfur dioxide (SO,), give the corresponding VSPER shape and
indicate the polarity of the structure you draw. (HW 4.58 and lecture)

Lewis dot structure (4 points) VSPER Shapes: (6 points)
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non-polar (circle one)

3. (4 points) Complete and balance the equation for the combustion of ethene, C,Hy(g). Include all (s), (g) and (1)
tc... (HW and Lec)

CyH, )+ 30,09 —=200,t4) + 24,04)

4. (6 points) Solutions of silver (1) nitrate and sodium hydroxide are mixed producing a brown precipitate of the
silver ion. White the (a) molecular, (b) total ionic and (c) net ionic equations for the reaction. Include all (s), (g)
and () etc... HW5.30
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5. (5 points) The temperature of a 2.0 L sample of gas at 25.0°C is increased to 50.0°C at constant pressure. What
is the new volume of the sample? (Lec, HW) U‘*W:TW \j
N N,
T =
\ T,
NG <o.0 427315
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Chem. 6A Exam II Dr. Mack/F2007
6. (10 points) Nitrogen and Oxygen react as follows:

Nag) + Z Oxg) — Z NOyg) (unbalanced)
Given 5.00 grams of each reactant, determine the limiting reactant and the maximum amount of product. Show all

steps. (HW35.52) ;
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Limiting reactant: z Theoretical Yield: 114 \ﬁ (2'15‘{')

7. (10 points) Potassium chlorate decomposes upon heating to form potassium chloride and oxygen:
2KCIO, (s) —*5 2KCl(s) + 30,(g)

A sample potassium chlorate was heated yielding 568 mL of gas at 22.0°C and 756 torr. How many grams of
potassium chloride were initially present before heating? (/ab) KCIO; = 122.55 g/mol
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Bonus: No partial credit

(5 points) Rank the following bonds by increasing polarity (least polar to most polar):

H-F H-1 Br-Br Na—-F
Bv-Bv < H -T < H-F < ‘A“”(:
( CO\}“ ‘My} { Pola- ) ( ;QM; Cﬂ) Page 3 of 3
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